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October 17, 2014

Quadratics Review

For each function below state the direction of the opening, the
vertex, axis of symmetry, max or min value, and the domain and
range. Finally, sketch the function.

a) f(x)=-2(x—5)"—4 b) f(x)=2(x-3)(x+5)
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2. a) The height, 4(¢), in metres, of the tragectory of a football is
given by s(r) =2+ 28t —4.9¢* , where t is the time in flight,
in seconds. Determine the maximum height of the football
and the time when that height 1s reached.

"(’(’)z‘(fﬁia‘/‘a St T+ *(’,a’/t«f/aﬁ
<
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b) How long will it take for the ball to hit the ground?

O=-4. 913484+ ¥EKd
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3. a) Determine the inverse of 1[(x) =-3(x—4)*+2
v =-"3(w-¢)"+N
~ = —3(? ) + 2
x-2n==3(0 -¢)>
“x ? o §

22 < (g 9)

M2z y ¢
) =
Y EEY
b) Graph () and /" (x)

c) Is the inverse a function?

Explain using words
No =oesn '+ pass
fo"',.(“ , II.’\{

ST . ]
d) Statg the domain and -
range of f(x) and £~'(x) i
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4. Express each radical in simplest radical form.

a) b) ~5.50 ©) —2+12 +4+/48
YGX ==SJasxd] TR +4Cx3?
2/ =-S-S ! =T QR_RIRtTE-4J3IT

—asf =;¢/.J\j_5_7'-$\-rl(a.f?'

5. Determine an expression in lowest terms for thie perimeter
AND area of the rectangle.

P=a(1+ 3@)T&(q-;@> 1+320
=2+4 0 1% -4 Syl
‘:zoarc,\l%xs%q.hxs?‘z*/g
S 2016203 - ¢3S
T20+1a)s? — 2 s?

= ;\0

A= () +35)(a-210w)
= q - 2Jw ke —6J 900!

= 9 - 2 J4x8 12 Jexs - ¢ (20)

= 9-23-3J<! +17.15?-|80

= 9-¢J+ 54 - (g0
=-l7)t 4 g S 57
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6. a) The height, /1(7) , of a projectile, in metres, can be modelled
by the equation  j(7) =14¢ — 542 , where t is the time in seconds
after the projectile is released. Can the projectile ever reach a

height of 9 m? T=)42 —S_z'g\ ¢ £ .s
O=-St*+/9x +1 el N
b~y b
a. C
14> ~4s)(T) YeS
=6 —> S

O= -S> +14t tind s
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7. Determine the value(s) for k for which the function has no roots.

f(x)=3x"-4x+k
E2— L/’ag(. < O
9)*~¢(3)k <O
/-2 K L0
-k & A
K < -IL

—

K< 4
_3
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8. Determine the equation of parabola that has roots /5 and _\/g
and goes through point (-1, 6).

#lx) = A (x —J?>(o< f—j?>

& =al-t 53N+ Js7)
-SO/V( ‘Fo/’ \\a\’/
Sula” inte 17T Jie
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9. Solve f(x) =3x* —4x+2
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